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7 UG/2nd SemyPHILO/H/19
2019
B.A.
2nd Semester Examination
PHILOSOPHY (Honours)
Paper - C4T

Fuﬁl Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer any fen questions of the following :

2x10=20

1. What are the different types of knowledge, according
- to Locke ? 2

2. What are the simple ideas and complex ideas,

i according to Locke ? 2

3. What is the Primary quality ? Give example. 2
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4. What according to Locke is substance ? 2

5. Why is Berkeley’s idealism called subjective idealism?
2

6. Why 1s Locke’s theory of representative realism

called ‘iron-curtain’ theory ? 2
7. Is Berkeley a Solipsist ? 2
8. Define cause, after Hume, 2
9. Is Hume a sceptic ? . 2

10. What are the three ‘Laws of Association’, according
to Hume ? 2

‘11. What is “a priori knowledge’ according to Kant ? A
2

12. What is synthetic a priori judgement, according to

Kant ? 2
13. What is intuition, according to Kant ? 2
14. What is ‘Space’ according to Kant ? 2

15. How many categories of understanding considered by
Kant ? Z
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Group - B

| Answer any four questions of the following :
5x4=20

16. Distinguish after Locke, between Primary and
Secondary qualities. 3

17. How does subjective idealism of Berkeley pave the
way of realism ? §

18. How does Hume distinguish between idea and
impression ? 5

© 19. How does Hume distingmishes between knowledge
concerning relations of ideas and knowlcdge
concerning matters of fact ? 5

20. How does Kant distinguishes between Analytic

‘ Proposition and Synthetic Proposition ? _ 5
| 21. “Time is an a priori intuition” — Explain after Kant.
| 5
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22.

24.

2y

HERE
Group - C

Answer any fwo questions of the following :
10%2=20

How does Locke refute the doctrine of innate ideas?
Explain and examine. 7+3

. State and explain Berkeley’s principle of ‘esse-est-

percipi’. 743

Elucidate Hume’s theory of causality as constant
conjunction. Is it satisfactory ? 7+3

What is Copernican Revolution ? Why Kant’s
revolution in the kingdom of knowledge is known as
Copernican Revolution ? Explain. 3+7
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